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1.  (a) (2 points) For 
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(b) (2 points) For 
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, prove that an open interval 
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is an open set.

	


(c) For 
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, prove that an open interval 
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is an open set.

	(Similar to (b), nothing to work here.)




(d) (2 points) Let 
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 and 
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.  Prove that 
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Squeeze Theorem for Sequences
If 
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Standard Result
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The following problem demonstrates that the intersection of an infinite collection of open sets need not be open.  You may use the results above.

2. (4 points) Let 
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.  Show that 
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 is not open. 

	


The interior of a set 
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 is the set of all interior points of 
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3.  (4 points) Let 
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4.  (This problem has nothing to do with relatively open defined at the end of the lecture.)

Let 
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 be the collection of open sets such that 
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(a) Show that 
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(i) (2 points) Show that 
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(ii) (2 points) Show that 
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(b) (1 point) Show that 
[image: image33.wmf](

)

int

A

 is an open set.

	


(c) (1 point) Show that 
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 is the largest open set contained in 
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.
(Hint:  Show that if 
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 is open, then 
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5.  (This problem is a continuation of the classwork of 1.3. Part I)

Let 
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(a) Prove that 
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(i) (2 points) Prove that 
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(ii) (2 points) Prove that 
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(b) Prove that 
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(i) (2 points) Prove that 
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(ii) (2 points) Prove that 
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